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1. Simplify - - —-
(V4+v3) (=v5—-v4) (=v5+v4)

— [ - o — — a_ -
(i) (2v3—-6+4+2V5+v10+2v2) (i) (2—=74+2Vv5+v10+2v2) (iii) (2v3-7+2v5+4+v10+2v2)

(iv) (2V3=7+42V5+4+v10+42v2) (v) (2v3—=7+2V5+v12+2v2)

(—v8) (—v8) V9
2. Simplify - +
(=v5+v6) (—=v3—=v8) (V7—-v9)

, . 2 _ 61 3 _ . 4 2 _ 61 3 .
(i) (—2V8—-2V124 -V6—-- —-v7) (i) (=2v10—-2VI2+ - V6—-r —-V7)
5 10 2 5 10 2

.2 _ 61 3 _ . 24_ 61 3 _
(i) (=2v10-2V12+=V6——=-—=V7) (iv) (—2V10-2V12+-V6— > —=V7)
5 10 2 5 10 2

i -~ 2 _ 59 3 _
(v) (=2v10-2V12+ - V6——-—-—=-+V7)
5 10 2

V5 (—v4) V5
3. Simplify - —- —-
(=v3+Vv5) (V5-v4) (-v5-v4)

W (2vis+23) Gy (2vis+2) i (2vis+2) v (Bv2+ ) v (Avis+ 2
vy Wy 2 ) My 2 1 WS o 1 Wity

(—V3) (—v7) (—Vv7)
4. Simplify + -
(=v2—=v7) (=Vv3-v2) (Vv9+v2)

, 1 . 6 . 8 . 3 . .. 1 . 64 8 . 3 . 1 . 6 . 8 . 3
(i) (=-Vv6+_-v21l-_-V14+_v10) (ii) (=-V6+_-V21—_-V14+_V7) (iii) (=-V6+_-V21—_-V14+_V7)
5 5 7 7 5 5 7 7 5 5 7 7

, 1 6 .. 84_ 3 _ 1 .6 .. 8 3 _
(iv) (== V6+-v2I——VIA+-VT) (V) (== V3+-v21l——vId+-V7)
5 5 7 7 5 5 7 7



v2 v V3
5. Simplify - — - —-
(=V3+v4) (V2+v4) (-v4-v2)

1 1 1 1
(i) (2\/4+3\/2—2+\/3) (ii) (2\/6+3\/2—2+\/6) (iii) (2\/6+3\/2—2+\/3) (iv) (2\/6+3\/2—1+\/3)

1 . 4 .
(v) (-2\/6+3\/2—2+\/3)

v7 va (=V5)
6. Simplify - - - -
(V3=v5) (=v7+4+v8) (v6—-v7)
, 1 3 - 1 34
u)(—2v19—2v35—2V7—4v2—v30)(m «-2v21—2v35—2V7—4v2—v30)

1 3 . 4 . 1 . 3 . . . .
(iii) (—2\/21—-2 V35-2V7-4v2-v30) (iv) (—-2 \/21—-2 Vv35-2vV7-4v5-v30)

1 . 3 . . .
(v) (- > V21— > V35-2V7-4v2-v30)

v (-v3) v3
7. Simplify - + + -
(v2—=v5) (V3+v4) (V4-v2)

2 2. 1 2 2 1 2 24 1
(i) (—=V2-=V543—v6+-v6) (i) (—=v2—-VE+4—V3+-v6) (i) (—-v2—=-V5+3—v3+-6)
3 3 2 3 3 2 3 3 2

, 2 2 o1 2 2 o1
(iv) (—=V-1I-2V543-v3+-v6) (V) (—-v2—-V5+3-vV3+-V6)
3 3 2 3 3 2

(=v5) (=v9) v7
8. Simplify - + +
(=v3+v2) (-v6—v2) (Vv9+v8)

. 4. 3 . 3 . . . . : 34 3 . .
(i) (\/15+\/10+-4\/6—-4\/2+3\/7—2\/14) (ii) (\/15+\/10+-4\/6—-4\/2+3\/7—2\/14)
; 3 3 . . 3 3 . .
(iii) (\/12+\/10+4\/6—4\/2+3\/7—2\/14) (iv) (\/15+\/10+4\/6—4\/4+3\/7—2\/14)

3 3
(v) (\/15+\/1O+-4\/6—4 V2+3V7-2V14)



V2 V3 V4
9. Simplify - +- -
(V2=v5) (—=v4-v3) (V5+v4)
17 1 19 14 19 1
() (5 =5V10-2V3-2V5) (i) (5 =3V10-2v3=2V5) (i) (5 -;V10-2V3-2V8)

) 19 1 . 4, . 19 1 . -
(iv) (-3 —-3\/10—2\/3—2\/5) (v) (-3 —-3\/10—2\/3—2\/5)

V2 va (=V5)
10. Simplify - + +
(=v9+v3) (VI+v6) (V9+v7)

) 1 13 3 1 .. 1 134 3 1
(i) (==V2—=-—V06+2V7—=V7+—-V35) (i) (-=V2—-—V06+2V7—-V5+—-+V35)
2 6 2 2 2 6 2 2
1 _ 13 - 3 _ 1 . ) 1 . 13 . - 3 _ 1
(iii) (==vV2=-—V6+2V7—=V5+=-V35) (iv) (-=V-1-—V6+2V7—=-V5+-V35)
2 6 2 2 2 6 2 2

1 13 . 4_ 3 1
(V) (==V2—=-—V6+2V7——-V5+-V35)
2 6 2 2



Assignment Key
1) (iv) 2) (iii) 3) (ii) 4) (iii) 5) (iii) 6) (v)
7) (v) 8) (v) 9) (v) 10) (iii)
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